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Iﬁstructions for the Candidates

1.

wlensfail w2+l ga-uall

Write your Roll Number in the space provided on the top of this page.
2. This paper consists of fifty (50) multiple choice type questions. All questions are compulsory.

Correct method

paper II only

. Each item has upto four alternative responses marked (A), (B), {C) and (D). The answer should
be a capital letter for the selected option. The answer letter should entirely be contained within -
the corresponding sguare. '

A Wrong Method 3 or E] ' ]

Your responses to the items for this paper are to be indicated on the ICR Answar Sheet under

Read instructions given inside carefully.

. One sheet is attached at the end of the booklet for rough work.

You should return the test booklet to the invigilator at the end of paper and should not cari'y
any paper with you outside the examination hall.
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Note :— This paper contains fifty (50) multiple-choice questions, each carrying two

@iq

(2) marks. Attempt all the questions. -

= 2L Nl v (N0) sglisedly uadl . eds usrt R(R)

8. 6al Wil Gd auil.

Which of the following is not concerned with micro-economics ?

(A) Product pricing (B) Factor pricing

(C) Study of the firms (D) National income and output
MA-uniell o ssnael e wd wdela wiad +ol ?

(A) g BEudaRala B) waq BHalaize

(©) Uil oy O WY suas A Gewen

The income-consumption curve generally :

(A) slopes upwards to the right  (B) slopes downwards to the right
(C) is parallel to the X-axis D) is a vertical line
AU 2U95-GUeild as ¢

(A) 2l cug Gu-l ds el €l &

B) %wdl sugsl Al d¢ sadl Ciu B

(© X4d Wia ¢l &

@) Gell y3Iw Sl &

If a firm in perfect competition has a U-shaped average cost curve in the

short run : :

(A) At Jeast one of the factors of productionh must be subject to diminishing
returns | _

(B) The firm must have some element of monopoly power

(Cy Diseconomies of scale apply in the industry

(D) The firm must have a choice of plants of different sizes

@ Yol edlsidan ooni-Nl AL, st suani U-aisiail a3ua vy as auadl

Sty dl '

(A Gedtenig eotui g As WA, v2dl HAdRAL Pladd el S

B) U4, uilas Sgula aud &
(©) Gellori se-ll A55u2 Yl B

O U, QR ser wvdividl weigoll. 53 23 8 -
Eco.—I1 3 ~ PT.O.



4.

Opportunity cost describes :

A(A) Cost related to an optimum level of production

(B) Va;'iable cost

(C)  Short-run cost . |

(D) Cost of one product in terms of production of other foregone

dsleus wil agld & :

&) Geutertil $ream AR Al Asudal Wil

B) wRu wy

(O Zstum-l vl

D) Ucl s3A Gerlgnrt a3uui A 25 ag-i (actuaﬂm oidtaal wsdl v
If each factor of production is paid according to its marginal productivity,
the total factor payment will be equal to the total output only when :
(A) there is diminishing returns to scale

(B) there is constant returns to scale

(C) -there is increasing returns to scale

(D) no returns to scale

R Gewtsetrl 535 wedd Al Auid Geuesdl Yo andz ysaami 2ud o,
§6 WHA A0 A §4 Goliert Y o AL AU § wwR

@A) selasia WA “AadR qed ¥g iy

(B) selsn wd wnd Ru ¢l

(© sefasin WA wAad aag og sl

D) 565N §AA HAdR a2 Asia A el

Total price effect is the sum of :

(A) individual price effects (B) individual income effects

(C) substitution effects (D) income and substitution effects
ga [Bud 2l o

(A) aldddid. Bud 21 B) ABddld 2Uas AU

(©) 4% AHUU - D) 45 A AAW AAUAL
A 9.
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7. Locus of Pareto optimality in production and consumption is given by :
" (A) The Social Welfare Function ' '
(B) The Utility Possibility Curve
(C) The Transformation Curve
(D) The Grand Utility-possibility Curve
Gaulgt A Gueliopi W32 Sredmail Bigua :

(A) A@s s [Q8y (B gftem Aeuarl A
(O AR A5 O g4 dfeR deta-i as
PEIRTICTOR: T
8. | The quantity theory of money best explains economic behaviour :

(A) during time of deep recession _
(B) when the economy is experiencing hyperinflation
(C) when the economy is in a liguidity trap
_(D) when the economy enjoys stability
i wRauasl Rigid -
@) dia e anaona e3sl
@) ol weddani dist goudl six cul-tl
(€ wud weldat dadci-il Wiyl el Ul
@) wud wddst Ruacdt axiag ¢ia curdl
s aaeiz Avud Aanead O,

9. Inflation can be measured by :

(A) WPI . (B) CPI

{C) GDP deflator (D) All of the above |
gotaud

@ WPl - ®' CPI

(O GDP deflator | D) GuL dx

ad wydl usia. | , .
Eco.—II _ 5 P.T.O.



- 10.  The difference between GNP and GDP is :
(A) Net income from abroad (B) Depreciation
(C) Net exports - (D) Taxes and subsidies
GNP -, GDP 42+ dslad : '
@A) RRuiniel #adl Aivll 2ds (B) "W )
© awll Asia D $JAU A Asdl
9. | |
11, M, stock of money is defined as :
(A) Currency and deposits with public .
(B) Currency and deposits with banks
(C) Currency with public and demand depbsits‘ with banks
(D) Currency with public and total deposits with banks
i gl M, Al cuvy
(A) dist WAL AL A yyel
(B) Grsl WAL AR A AN
(€) dist WA a2 w0 Arsi WA Sw-s avel
(D) disl Wig aa@ A d-sl WA ga qyei
12. In calculating GNP, which of the following is not included ?
(A) rental incomes '
(B) interest payments by the firms
(C) dividends '
(D) government transfer payments
GNP +{l sl sl awd QA-umid) -l w0dn adl 2 ?
(A) ousidl vuas | |
(B) WAL gl udl @uy ysash
©) a@min |
D) AR &l i@ ysag

Eco,—I1 | | 6



13.

14.

15,

Full employment in the classical theory is achieved because :
(A) rigidity in wage market

~ (B) rigidity in commodity market

(O) flexibility in wages and prices

(D) inelastic supply curve of labour

e Rigianl el Aeou wnd wy 8 sie 3
(A) Advt AU FSd

(B) dg, AUl ¥Sdt

(€) Ad-l A Fudini uRad-apidl

D) -t yas asdl oll+lRafdenusdl

The Phillips curve shows :

~(A) aninverse relationship between the réte of inflation and the rate of emp-

loyment

(B) a positive relatlonshlp between nominal wage and the rate of unemploy-
ment

(C) an inverse relationship between the real and nominal wages

(D) a positive relationship between the rate of inflation and the rate of
unemployment :

gl ag |
(A) gAuaAlh £ WA ﬁ%ouz'l—u €2 ARAAL A Aoy

(B). Wiy dart A SAwouddu 2 a2A-L 4 Asiy

(C) aArRdAlds =t «wtifly ddril a2l od 2ol

(D) guaU € i QAWML 82 QAL yet ol

suldq 8. |

The economists who used cabital-output ratio in their growth models are ;
A) A K. Sen—Dreze

(B) D. T. Lakdawala and C. N. Vakil

(C) Harrod and Domar

o) Jagdlsh Bhagwati and Padma Desai -

FH Wikl ql& Beanl ygl-Geuter Ariinzl Gudiot 3&& 8 A des{luil
¢

Ay A3 A+ — §»

(B) Sl.A. assiaion > fl. A, q!slet

(C) &3S A SiMIR
D) gl opdradl uA w2

Eco.—II . 7 : P.T.O. |



16. Social overhead capital refers to :

(A) Expenditure on infrastructure
(B) Expenditure on capital goods

" (C) expenditure on exportable goods
(D) Expenditure on public sector
ALUDS vl 4slseL ¢ |
(A) Adlcavisia Ylamai ya-dl wy
®) Y8l agail -t v \
(© Fsuam axgeil u+ wal

(D) A8 A uR-l wd

tald 3. |

17. Human Development Index does not include :

(A) Per capita income (B) Education

(C) Life Expectancy (D) Poverty ratio

Wi Qs 2isui |
(A) HweEls »as | ® [([aaw o

(©) AR Uy o O Al yeiaz

i A udl ],
18. Big push theory was propounded by :

'(A) Leibenstein ‘ (B) Nurkse

{(C) Rosenstein Rodan (D) None of these
‘oflor Yo' Rigid ‘ | b

@A) AARSA - ® A

© VIRE-Asi @ At AS Al

GLRL BLMAdi el

Eco.-—1I 8



19.

20.

21.

22.

The emphasis in the Mahalanobis model developed for Indian Plannmg was

on : .

(A) Agriculture (B) Infrastructure
(C) Heavy mdustnes (D) Exports

el sdiE W 2l deariolln Wdani :

@& ™ B) WA g[aeua»u
(€ *u Galdil O [Asa

yR el sl wwedl edl.
The technique of Input- Output Analysis is based on the assumptlon of :

(A) increasing returns to scale (B) decreasing returns to scale
(C) constant reéturns to scale (D) None of these
wan-Geuter sdvarl weld ¢ |

@A) a4dl Fdl ®Ad Ry B) "2l el Mol P |
© Bu3 dad-l Pay O il A4S Al

e u s N 8.
Relationship between economic growth and 1nequahty is captured by :

(A) Phillips eurve (B) Xuznets curve
(C) Okun’s law ©) Laffer's curve
s gl A AWl a2d-l Asiy -

A) sldlw as L B) &w-i2u as

(©) gt (Rus D) dlsvll A

gt dadl asu 8.
The law of ever-rising public expenditure was advocated by :

(A) Adolf Wagner _ (B) Simon Kuznets
(C) Adam Smith | ®) V.KR.V. Rao
MIdy atdl ol e vl [ e | |
(A) Wsies AR (B) WA gHeA
© wien v o © dLi.suzdl. ua

gLl %Y SAUML dtenl.

Eco.—I1 9" -~ PTO.



23. Sum of the government expenditure multiplier and tax multiplier is 1 only
when budget is : )

(A) Surplus (B) Deficit

(C) Balanced (D) None of these

A v oas 2 532 J@usl uAM 1 cud o wy 3 oud BELAYA :
(A) Yiday | B) uauy

(C) Augdld : @) AAHidl $iS gl

i,

24. Primary deficit in the government budget is calculated by :
(A) fiscal deficit~revenue deficit (B) fiscal deficit-interest
(C) fiscal deficit—capital deficit (D) overall budget deficit
AL diewpustui walis vyl oesll ARl Al g1 iy 9 ?
@ sy vy — wd3yel win B) uwsly wia ~

© uwsillu v - 4 wa (D) wua ierwslly we
25.  The burden of an indirect tax can be fully shifted to the consumers when :
(A) demand is perfectly elastic (B) demand is highly elastic

(C) demand is perfectly inelastic (D) None of these
As w530 ol il o Ayeud sl v WAL sy 3 ol

(&) ia dyel Jeuawla iy B) uin Gl yeuwad guadl €y
(C) Mo Ayel yeu s i O A4 S8 ]
Siy. _ | ;
.26.  The chairman of the 12th Finance Commission is :
() C. Rangrajan - (B K. C. Pant
(©) Jaswant Singh - (D) Raja Chelliah
COLRML R VAl b |
@ . vy @ 3.2 dd
(©) %audd Riw @) A Adw
‘3 : .

Eco—II : . 10



27. Which one of the following i_s a merit good ?

(A) Petrol ' (B) Communication
(C) Primary education D) Irrigation
sl 5§ JayAs g S ?

(A Ygla B) AwR

© walis Ran @ Ras

28.  Which one of the following sources of revenue is not raised by the state
government ?

(A) Land revenue ’ (B) Entertainment tax

(C) Agricultural Income tax \ (D) Income tax

fAuidl 2iasdl sul Ald, WY ASI @l GUUPBE A 2uadi «of] ?
A) %+ Hdye . B) Hiidw dai

© £ pas A D) »uas 4A

29. Which one of the following items does not fall under the current account of
Balance of Payments 7 '
(A) Exports and imports
(B) Income from Travel and Tourism
(C) Loan from IMF
(D) Interest and Royalties ~ _
fAniifl 59 [And, daga-dl gaii wg sidt-l eusL -l ?

@A) s w1 spaud

B R siq w2l 2uas

(©) didandly i ofsianidfl wAdl aiq
@) A% A Uued

30. The offer curve of a nation shows what the nation :

(A) can offer (B) must offer
(C) willing to offer . (D) any of these
Bl UL ue a5 A ewld B 3 Uz g ¢
Q) svRd s¥ 4% B B tvud sl ATA

(© s sl St wud & (D) Aol 46 Adl |
- Eco.—I | o '_  PTO.



31. The terms TRIPS and TRIMS are more related to :

(A) EFTA (B) GATT
(C) SAARC | (D) SAPTA
TRIPS A TRIMS 6eAYel
(A) EFTA " (B) GATT
(C) SAARC | (D) SAPTA
A ay Asifa . |

32. Eum-currencyl is referred to :
(A) Europian Union (B) NAPTA
(C) SAARC D) UK
YU A4 :
(&) 3Adlan A (B) NAPTA
(C) SAARC D y.5.
wd feifa B, '

33. The latest ministerial meeting of WTO nations at Cancun failed because of .
diagreement on :

(A) Subsidy on agriculture (B) Environmental issues

(©) Social issues ®) Removal of tariff barriers
3egt WA HAl Rsq epwr dudl dedl dflsaull Ass

@) §M™ uAdl edl B wldw s yeel

©) AUDS Yaal @) sl AaRiaidl nogd

Y-l Ridfad 59 s s,
34. Example of carte]l agreement can be given by :

(A) OPEC - | "~ (B) GATT
(©) WTO ' ' (D) IMF

sidag Gelern NA-uni 4 8 7

(A) OPEC o (B) GATT
©) WTO | o ©) IMF

Ecow— 11 12



36.

37.

38.

Theory of Cusi;om Union was propounded by :

(A) Ricardo 2 (B) Heckscher-Oblin
(C) Kindleberger (D) Jacob Winer
o5l Al Ragid ¢ | | |

@) Asst (B) ssu-vilgeln
(O 4-sasdi - D) Fs AR
Gl Y SAUML dUHl. .

Targeted growth rate for 10th five year plan is :

a) 5% B) 7%

(C) 8% D) 10%

cadl quadfy wiwudi qfa e+l amis @

(A) 5% ®) 7%

©) 8% - ®) 10%

8. | |
The share of service sector in. the National Income in India is :
(A) more than 50% ) (B) more than 70%
(C) less than 30% - D) 40%

atiafl sl diasui At dx-l [

(A). 50% 5l A (B) T70% 5l Y,
(C) 30% %L UL D) 40% ‘
8. S

‘Currency and Finance’ Report in India is brought out by :
(A) Planning Commission
(B) Finance Commission

" (O) Reserve Bank of India

(D) National Council for Applied Economic Research
el ‘sl As U Quié’

(A) Wo%elt dHdL

B) el du .

(© oudiy And dry

D) Anra sG=lla 51 Aass Sa-idls Aud

gzl wRug aw 9,

Eco.—II | | 13 PTO.



39,

40.

41,

42,

Which of the following states tops in HDI in India ? _

(A) Gujarat | ' ' (B) Punjab
(C) Delhi (D) Kerala
MU, Wt Qs wisni DA-uniell 54 W v 2 8 ?
&) YU - (B) Nwe
© Red D) Ra
The major part of agncultu.ral land in India is under :
(A) Cash crops | (B) Food crops
| (©) Plantation crops (D) None of these
ouddi Al e fla-l WA ooy :
(A) UWssluL wsi (B) wa wsi
©) ewdund sl O Al fS dl
dsn . |
Which of the following states has the highest'poverty ratio in India ?
(A) Gujarat | (B) Rajasthan ]
(C) Uttar Pradesh () Orissa
ouanl, «faA-nuniell sy Aauni Olﬂ&ltt?'tl yelin Al ay & ?
4 IY%Ud  (B) UARAA
T (O GuR uga - @) il
-Which of the following commodities is not under admnnstered price mechamsm
in India ?
A) Petrol - (B) Kerosene
(C) Gas (D) Fertilisers
oanl, NAuuidl 56 Rl Bud wsr Mallda o ?
@A g B 30
© W M) ‘R

Eco,—II . 14



43.

44,

45,

46. |

-~

Large percentage of the populatlon in the age group of 0~14 indicates the
presence of :

(A) Unproductive consumers ' (B) Low fertility rate
(C) High death rate | (D) Low birth rate
0-14 1 quogdl axdll #id esidl : -
(&) ofl-GuEs e | ®) Bl uweA €2
(O GAL Yoy €3 S () B UL S X )
eald 8.

Consistency in the series can be measured by :

(A) Mean deviation | (B) Standard deviation
© Cbeﬂ’icient of variation ) (D) Skewness

Aefui rioddr :

(A wuu s ®) wuRd [Qaan
(C) ad-iis @ R_wma

glat il wsiy 6.

~ When the frequency distribution is skew, which one of the following measures

of central tendency is appropriate ? _

(A) Mean (B) Median

(C) Mode ' (D) Harmonic Mean

2 R Rdw [‘Q\m el cul, Dd-unidl syl 30y aaa-dl ugs dioy
87 | L

(A) Hs o ~(B) MRy

(C) 4gas D) ALl Heus
For a symmetric frequency curve, skewness is :

(A) Positive (B) Negative
(C) Zero (D) One

As Yoia 2wql as w2, Anud ¢

Q) &~ _ _ (B w

© Yu . | ® s

sy 89,

Eco.—II 15 - P.T.O.



47.

48,

49.

50.

y If the probability of joint occurrence of two events is zero, they are :
(A) Collectively exhaustive (B) Statistically independent
(C) Mutually exclusive (D) None of these
A 6 qevil WA oAl AspAtl Yo €U oll, Al :

(A) [R:aw ® e

(C) v Ry @) Axidl s Al
siy 8, | - o
Pearson’s correlation coefficient is invariant with respect to :
(A) Change in origin only

(B) Change in scale only

(C) Change in origin and change in scale both

(D) None of the above

Yuairrl Asdosiuis :

(A) &5 GAMDBigHi 3812 UA

(B) &5 Wa ulRad ud

(C) Guulig wWRad- w1 3a wliadd 6id ud

M) Guumidl 5SS el

w3 W 8,

For testing the independence of 2 attributes, we must use :
(A) Z-test _ : (B) t-test

(C) F-test - (D) x2-test

A opsllcits AANRBIAL >4l YR S WD

Q) Z-ydaw B). t-ulaw

(0 F-uilaw | O yZudlaa

"l GualdL sl ASA.
Which one of the following is not a method of determmmg trend of a time-
series ?

(A) Smoothening the curve (B) Method of moving averages
(C) Method of moments_ (D) Method of least squares
Azl 5§ ugld, wnAs Al aaw Ralda s w2 el o ?
(A) asn ANdA s @B alad w3pgu-d wela

© yuumdadl wgla - (D) gndx @l wgla

Eco.—II 16
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